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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

Questioi numbers 1 to 3 in Section-A are one mark questions. These are to be answered in -

one word or In one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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HIT-3H / SECTION-A

1 FufiaTe g faee (SPM) & 22 1
What is a selectively permeable membrane (SPM) ? ;

2 I 1 UF I I ST eor SmE @) 1
Give an example of a motion in which acceleration is non - uniform.

3 forelt wfoeifitan o qackaTsii R <™ Yed &1 =g |aal % faw s day fafa) 1
Give a relation to justify the wearing of gloves by boxers during a fight.

4 TH FH FT UFA & 6 arg H o1 9 Sufeyd B2 fardll fpamsand g o #ifs) 2
How can we say that water vapours are present in air ? Give an activity to explain it.

5 e & fafy= w994l & FMEl &1 oo FIfS | 2
Mention the functions of the various elements of xylem. .

6 = & o i - 2

(a) YA W TYET TEHT T SICH! o HegH el ¥
(b)  FeEEM Afew EfE IR Tk gfew afdr #)
Account for the following :

(a) On moon, man feels lighter than earth.
(b) Mass is scalar while weight is a vector quantity.

7 HH FYL, WHURY A9 TS T &1 gw g v 2 fafs el % 3uEm g e g & 3
HeF I HY gUFH Bl 2 35E fatvm i @ fafed
You are provided with a mixture of camphor, common salt and soil. Using various
techniques how will you separate components of this mixture. Write the various steps
involved.

8 I % 1 THAEF AW e 3 Y OF i Fod € 7 FE HY a9 ol 8 ? 3
What is the chemical name of dry ice ? Why is it called dry ice. How is it prepared ?

9 <& TEETE IRadT &1 39 FYA 1 6 faged ¥ genfya Sifsw) 3

= "Combustion is a chemical change". Give three points to justify this statement.

10 Sl &1 wif¥rersil # Hen & rur W afihd wifeg) Serw fafau) 3
Classify the organisins on tiwe basis of the number of cells. Give two examples each.

11 . 9gel g H ey Hi¢ Hifeir, TegER gul i § 399 veg eifery 3
(a) &d : TS U : Tt et )
(b) TG F ATHA : TSR : : FHE FATF : :
()  vicwh! Thyeffead ; & : AR U | |

Correlate the first pair of words given below and accordingly insert a suitable word in the
second pair.

(a) Heart : Cardiac muscles ; : : Smooth muscles
(b) Tissue repair : Areolar : :Insulation :
(c) Squamous epithelium : Protection : : : Absorption and secretion.

12 TF FAT T TF 97 G20 A T 12 67 2a § 909 701 F17 F 70 § 29 7 g2641 1 3
7 & g9 F form e gedm F1 TS & iy 511 vata 9 s/afe qTe qeahd F ar el
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F AT FIFE o1 39 AL F SER W T AT TIAAT F AALEF 91 F {2 F T A7 fAead
fRFTeiT? =124 & 7f3 F o F areme 97 qrAr 397 wenfya fifsro) e o fifsm
A black and a red suitcase were tied to the car roof. It takes 5 ropes to keep a black
suitcase from falling down a car while turning and only two ropes to keep the red
suitcase from falling down. From this fact what do you conclude about the relative

weight of the two suitcases ? Justify your answer on the basis of Newton's Law of
motion. Also state the Law.

13 (i) 9.8 N WﬁWﬂWZONWﬁEmH-W%I FE H1 G 1 8 U1 IHH =0 3
fFam &7 (g=9.8ms?)
(i)  Afe o 1 I s0 N &, O SHFT ZAHA fFaT1 82 (g=9.8 ms?)

(i) A force of 20 N acts upon a body, whose weight is 9.8 N. What is the mass of the body and
how much is its acceleration. (g = 9.8 ms™)
(ii) If weight of a body is 50 N. What is its mass ? (g=9.8 i157)

14 UFHHYHE @0 F1 Ry fafae s gweR 1 3 fafau 3
U &9 Ugd 20 km UF 5 H 9 FIAT €| ST 20 ke 2714152 F 3T g9Y 6 20 km 1 HE H 74
HA S| oH I G = 19 FIf |
Define uniform acceleration and write its Sl units.

A bus travels first 20 km in 1 hour, next 20 km in half an hour and next
20 km in 1 hour. Calculate the average speed of the bus.

15 =t aeq & sz 9% A &1 F47 AT grne -3
(@)  Ff2 T TETAT F AT ST
(b) =R FFE e F Ay ST
(c)  =f= smraa wafaers- w2 faar s
What are the effects of the following on inertia of a body?
(@)  If force is doubled
(b)  If density is halved
~ (¢)  Ifvolume is reduced to one thrid
16 AT-FHA WO &1 e Fwr FrAfafaa g & 3w fafag ) 3
I (m/s) | 0[10[15|20115|10 |0
wE(s) |05 [10[15[20(25(30

(@)  0-15s 1 a7 § O F1 F1 HA B2

(b) %] I A THTHM § A FHAA ?

(€ @ wamiage o @0 HonH § 7

Study the velocity-time table and answer the following :
Velocity (m/s) (0] 10 |15(20| 15|10 (0

Time (s) 0[5 [10]{15[20]25]30
(a) What is the value of acceleration during 0-15s ?
(b) Is the body in uniform or non-uniform motion ?
(c) The time interval in which the acceleration is negative.

17 F HHA & 91§ Ug W91 36 ugl ok w41 wiifa il # of wE e & fae $e ume 3
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qcdl 1 FEvHAl Bl &1 394 <@ fF gt 1 g wn feem e § 99wy 96 9 39
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AT AT H I S @R e F fau s

() T <1 Hidl g = el ¥ 9 16 SEvas U ded U w4 2

(i) 99 T F FH H R G F F-5 F1faw whrant gafad & st 7

(i) FE 9 g T #E 2 g fafad

Karan was studying about crops. He studied that just like humans, plants also require certain

nutrients which are essential for proper growth. He observed that the plants in the kitchen

garden maintained by his mother were not healthy He told hls mother to use organic
manure.

(i) List two different sources from where a plant gets the 16 essential nutrients.
(ii) Which physiological processes are affected if there is deficiency of nutrients ?
(ii)  Listany two values of Karan reflected in his behaviour here.

wIEl THST qe el oA § faven Fifem ) Wt vt v @ qoe F saed § Y g
gfg =1 51 ekt 2

Differentiate between capture fishery and culture fishery. How fish production can be
increased through marine capture fisheries ?

() i 7O % SFER W UGS qGT S § FE A AR ARG 39 hF F < e
difam |
(b)  SUIGE ¥ Bt E 2 S fatan |

(a) Write three points of difference between metals and non - metals on the basis of their
physical properties and give two examples of each.
(b)  What are metalloids? Give two examples.

(a)  fowud Fom &t 9 arfus - wqqmﬁsﬁnﬁwoucqtmamlwcmtﬁf?
SAYAT IR HRY Fieq dfaw
(b) Frefafad ameE w Sfcgaa I8 § sefeu

(1) 298K (i) 300K (i) 280K
(a) Which has more amount of heat - same amount of water at 100°C or steam at 100°C ?
Give reason for your answer.
(b) Convert the iollowing, temperatures into Celsius scale :

(i) 298K (i) 300K (iii) 280K

IR F1 S FI HTAH q RIS 31 il e §7 Sghiiee Sial § 49 fawsH &1 &
ST gRI THHILT |

Why the cell is called the structural and functional unit of life? Explain the concept of division
of labour in multicellular organisms giving an example.

(a) 9ol 4 GdR W 2 kg F1 TR AEq q91 geat & TRt st % qfEm 1 yResfen Fifd
(feai ™11 8, Me =6 x 1024 kg, 3oai1 1 5531 =6.4 x106m)
(b) oYY FA ¥ @1 ufiads 2o afy

() <A aEgEl F we gl el e €

(i)  TH 9% A FAHA A R g =

(a) Calculate the magnitude of gravitational force between the earth and 2 kg object on its
surface. (Given Me=6 %1024 kg, Radius of earth = 6.4 x 10°m)
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(b)  How does the gravitational force change if :

(i) the distance between the two bodies is halved
(i) Mass of one object is halved
23 T aeq o7 Fre a1 afz B wow 3 2 A 9w W T 59 aneed ; 5

a)  TEAT gd < AT FFALre

b)  WEAT T > 777 afady

c)  #refha w7 IifEE ao > "dur g

d) =99 FF = T T IEAF ggw

e)  fFar ud ufafrar a=

If the force acting on a body are of following type, then describe their effect on the

body : .
a) Force of gravity < air resistance
b) Force of gravity > air resistance
) Mechanical pull on a bike > frictional force
d)  Frictional force = mechanical push on an object
e) Action and reaction force.
24 EgdER & yftar fafew) & e wwaErl % am fafen) el w e uE 5 fafes s
faferal Seret <t wwemsw )

Define weeds. Name two common weeds. liiustrate different methods of controlling weeds
in a crop field.

WIT-& / SECTION - B
25 TAFTIE | A T WA T W G Al S S9Am o Aifey F#ifE () oeEe gnm 1
21l A forge Tkt €
(b)  wETE # e 5 W TR gR R T e o qer i # ge g
() T &4 ¥ gyad | gfg &l ¥ fau)
(d) TR YETINC 1 9IF 99l WS W@ & fau)

We should use clean test tubes while conducting experiments in the laboratory because :
(a) Test tube might slip off from our hands.
(b) Any chemical present in the test tube may affect the result of the experiment we are

conducting.
(c) To increase visibility through clear glass.
(d)  To keep our laboratory neat and clean.
26 Hefta Jel g wd & ford s vere § firemn wmn € 1
(@)  uiTars ® ifa (b)) T IS FRE H A
() s F wifa (d)  fa=rm= =t wifqi
Metanil yellow is a substance which is added to food stuff as :
(a) a preservative (b) a flavouring agent
(c) an adulterant (d)  avitamin
27 ST a1 W & frgmn A qun A B A "owEe W B grEw gan & O frefafea § 1
I T FeTo1 T A 22

(@) Tamo A fawmi €
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(b)y  @fiTw B W .
() fagu A § R () T § foush s 2
(dy  Affe B H d@n () e § faus S g

When the bar magnet is rolled over mixture ‘A’ of iron and sulphur over the compound ‘B’
Iron sulphide, which of the following observation is incorrect ?
(a) Mixture ‘A’ is heterogeneous

(b) Compound ‘B’ is homogeneous
(<) Iron clings to the magnet from mixture ‘A’
(d) Iron clings to the magnet from compound ‘B’
28 W Y AT HewigS o YUTHHS w §e FH & fau 5F fom wu d c ey, aw € 1
(@ (b) BR-TRGEE
() WRH (d) 35 foerad
To test the properties of iron sulphide formed, it shouid be taken in the form of :
(a) lumps (b) small picces
() powder (d)  its selution
29 Hrfiforgn =idt St aFe O ¥ 1 98 sifaeE 91 sufeafs § e @ 1

(a)  FHFIR WHS &l F 1Y
(b) ~ TWHER Hall | F WY
()  wiadiftaviia & <t & o
(d) el <t % Gy

Magenesium is a silvery white metal. 1t burns in the presence of oxygen with a
(a) Brilliant white flame
(b) - Bright orange flame

(c) Fluorescent green flare
(d) Bluish flame
30 oS i et & et ST § iyl # st fean s § «bifE 97 1

(a) IV TR FY IIRA T |
(b)  HIf¥rERE 1 S A G

(c)  eHIfeTeRI T T S €

(d) e favre  gerEeE @ #1

While preparing a temporary mount of onion peel, cells are stained to :
(a) Highlight the cell organelles
(b)  Make the cells turgid
(c) Moisten the cell
(d)  Help in cell division
31 BEN Y i e R e st #i fuft G adt @1 9e diel fom weE F s adi g 1

CEA
(@)  Hoga (b) A
(¢ faf d A

Students observed that the walls of sclerenchymatous cells are thick. This thickening is due to
the deposition of a chemical called :
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(a) cellulose (b)  .pectin

(c) lignin (d) suberin

ST FeiREe, 91e] a9 TRy A0 F fagm § 4 fafm sedi 1 gus FE @t w0 2
(@) 5 e@d, FeAueH, e, qur amdiE :
(by & e, A, fred qun FeEuaA

() Freaca, ia e, A agt e
(d)  FEETH, SA SeEl, FeIeT a0 arsdi

The correct sequence of steps for separating the different components from a mixture of
ammonium chloride, sand and common salt is :

(a) adding water, sublimation, filtration and evaporation
(b) adding water, evaporation, filtration and sublimation
() filtration, adding water, evaporation and sublimation
(d) sublimation, adding water, filtration and evaporation

afast |98 W W@ T fFH SaaER dHSt & eE H @0 a2 & fae aavasd =Ean 99
v Fa 2

(a)  HuF T M Tl Tadl F TFHa W

(b) RS H [EH H FAIA W

© @)

(d) T () T ()

The minimum force required to just move a rectangular wooden block lying on a horizontal
surface depends upon :

(@) nature of surfaces in contact

(b) mass of wooden block

(c) neither (a) nor (b)

(d)  both (a) and (b)

FremeHi & <) 3 ®t Gt aRel T < U 1 IooiE Hifere TITE STUR W 9 ISRl
1 femarl ®t 4ft § T €

List two examples of suspension. Also mention two properties of the given examples for putting them
in the category of suspension.

WA F FGAER T FC F OTH TN F INE TF OIH A S HOF A A m e
Ye o R W@ S Y SEer uoe fE q@ e fer ' 81 FwR s FI s
Tl Fel S 27

While doing an gxperiment to determine the boiling point of water, a student heated water in

a beaker and observed that when water starts boiling, the temperature remains constant. State
reason. Where does the heat energy go?

frafisti i aeifid st &t ufqead 9@ 0 % UF wam o fed famedt 5 g feafawm @
goaHiT 4.0 a1 i H it frvfaetl 1 gem 7.0g femrs faman Tt gro steeifa <@ <t
wfaviaan uitnfea sifow | fenfae =i G st €2

‘While doing an experiment to find out the percentage of water absorbed by raisins a student

recorded the mass of dry raisins as 4.0g and mass of raisins after soaking in water as 7.0g.
Calculate the percentage of water absorbed by raisins. Why do raisins get swelled up ?

Fe KoK KK
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